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QUESTION 1

If an input name on the Show Context Help window is in bold for a SubVI, which of the following conditions are true?
(Choose all apply) 

A. Input values must be scalar. 

B. An input is recommended, but not required. 

C. An input is required. 

D. A broken run arrow will result unless the input is wired. 

Correct Answer: CD 

 

QUESTION 2

The following breakpoint does which of the following: 

A. Causes the VI to abort 

B. Causes the VI to pause 

C. Causes the VI to single step over the addition 

D. Causes the VI to single step over the indicator 

Correct Answer: B 

 

QUESTION 3

Can a wire be used to pass data between loops that are intended to run in parallel? 

A. Yes 

B. No 

Correct Answer: B 

 

QUESTION 4

Which of the following statements is true regarding the execution of the following code? 

A. The loop will iterate 51 times. 

B. The loop will iterate 50 times. 

C. The loop will iterate 49 times. 
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D. A For Loop that has a 50 wired to the count terminal will perform the same operation. 

Correct Answer: A 

 

QUESTION 5

The Wait function can be added to While Loops: 

A. To free up available memory. 

B. To allocate memory used by the CPU. 

C. To allow the processor time to complete other tasks. 

D. To reserve which processor the code is running on. 

Correct Answer: C 
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